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® Nearly all trees have seeds that fall to the earth,

. take root, and eventually

(A) generate new seeds
(B) new seeds generated
(C) by generating new seeds

(D) new seeds generated there

A6 » trees £%]» have $33 > seeds £33 that
MR, 23151 % — A B30T 4845 seeds ; BT aF >
that £33 » fall to the earth $ take root 3y &
#3443 > and HA—FFi i3] 0 LAER A
gen:rate new seeds ( %%+ %133 ) » F4k4# and
A& THRiEy > ANGEMA AP ; EAMEH
EZAMRAMAERT o 235 st =/EBE (B new seeds
generated ( ¥+ H¥ )X TP REEH >
(C) by generating new seeds (frig+@ i iE)
¢ T o 29is » (D)new seeds generated there s
B R » HX TATRRNAE TR RN o

Z T RAEE > RNAE 1979 $6—BHRE !



® Welding was first used to join parts of bronze

sculpture

(A) each to other
(B) together
(C) as one

(D) severel to one

4619 » Welding £33 » was used $7%] » to join
.parts of bronze sculpture 7R € 38} & 15203 Al vA
Rhivuse ZHE o B BONERRETAR EHA
RGO T HM A SO BB T AR R E RV
BETAEHRBELCHE » LR E P FZ M 4T >
4 E together gL as one ) B&I3 » KAVEAZF oA
EEFZHRAEREB > MAAREBE—Z FAGEH L
BIR(C) ° ‘
FR A FHMARLELTE > ELMER » £—XK
UG R EA » AMPNRELFEME S

e Welding was first parts of bronze sculpture
together.

(A) used to joining
(B) used to join
(C) using of joining

?
U i

(D) to use for joining
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1. The sea seventy-five percent of the surface of our world.
(A) making up {B) makes up
(C) make up what is (D) which makes up
2. Pigs certaih characteristics with human beings.
(A) which share (B) are sharing
(C) while sharing (D) share
3, The regular major league baseball season each team to play 162
games.
(A) which requires (B) requiring
{C) it requires (D) requires
4, South Florida a tropical climate.,
{A) having (B) with
(C) has (D) being
5. North Carolina a mild climate. ('80%8 )
(A) has " (B) having
(C) being (D) with
6. A laser beam a concentration of pure light.
\
(A) consists of (B} which consists of ‘\
(C) it consists of (D) consisting of \
7. Snowflakes an infinite variety of shapes.
(A) that exhibit (B) in exhibiting \
(C) exhibiting » (D) exhibit N
“\
8. A crank shaft perpendicular motion into rotary motion.
(A) which converts (B) is converted

(C) converting ‘ {D) converts



X EHWET Y

10.

11.

12.

13.

14.

15.

16.

. An isosceles triangle

(A) has
(C) but

The skin of a leaf

(A) having (B) which has
(C) that which has (D) has

Xylem ___a complex plant tissue. ('81%1A)
(A) as (B) which is
(C) being (D) is
Volcanoes the mavericks of the mountains.
(A) although (B) and

(C) are (D) but
Diamonds as unstable form of carbon.

(A) which are (B) being

(C) although they are (D) are

Mt. Reiner _ in the state of Washington.
(A) which is (B) is

(C) being (D) although
Sumer the oldest civilization known to man.
(A) which is (B) is

(C) as (D) although
A lever . a type of machine,

(A) and (B) as

(C) is (D) which is

two equal sides and angles.

(B) being
(D} with

a waxy coat to prevent evaporation of water.
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17. Paul Revere political cartoonist.
(A) being a (B) was a
(C) a ' © (D) was

18. The moon the only natural satellite of the earth. ('8045 A)
(A) as (B) being
(C) is (D) which

19. The earth the third planet in the solar system.
(A) as (B} which
(C) it is (D) is

20. Oxygen and hydrogen the ingredients of water.
(A) are (B) which are
(C) although they ate (D) although are they

21. The tnatara of New Zealand a representative of an extinct group of
beak-headed reptiles.

(A} which is (B) is
(C) although (D) being '
22. The Great Lakes the largest fresh bodies of water in the world.
(A) are (B) being
(C) which are (D) they are
23. The Watchung mountains in New Jersey merely 400 to 500 feet high.
(A) are ’ (8) which are
(C) as being (D) even though
24. Mt. Hood and Mt. Reiner - in northeastern United States.
(A) are both large peaks (B) and both are large peaks

(C) which-are both large peaks (D) which as large peaks
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25. Mountains on every continent on earth.
(A) occur (B) which occur
(C) although they occur (D) occuring

26. Helium __ the safest gas for lighter-than-air craft.
(A) being (B) as
(C) is (D) and

27. The humming bird known..

(A) which is the smallest variety of bird species
(B) the smallest variety of bird species, which is
(C) is the smallest variety of bird species

(D) although the smallest variety of bird species

28. The koala bear of the marsupials.

(A) although one of the most well-known
(B) as one of the most well-known
(C) which is ohe of the most well-known
(D) is one of the most well-known

29. Washington and Lincoin of the United States.

(A) which are both well-known presidents
(B) are both well-known presidents

(C) they were both well-known presidents
(D) who both as well-known presidents

30. Volcanoes as active, dormant, or extinct. ('80&11 8)

{A) described (B) are described
(C) being described (D) which are described
31, The unique Olymplc rain forest on a peninsula along the coast of

the state of Washington.

(A) is located (B) is locating
(C) which is located (D) that is located



E-% Lhkan

'32. The algebra of sets Boolean algebra. '
(A) is called (B) which is called
(C) known as (D) called

33. Triangles as right, obtuse, or acute according to the included angles
of the triangle.

(A) being described (B) which are described
(C) are described (D) described
34, Mammals into the monot;emes, marsupials, and placentals,
(A) which are classified (B) classified are
(C) are classified (D) being classified

35. The first refrigerating machine b'y Jacob Petkins in 1834,

(A) was inventing (B) was invented
(C) although invented . (D) being invented
36. A rubber-band powered aircraft by Alphonse Penaud in 1871,
(A) flown ' (B} was flown
(C) being flown (D)when flown
37. Some form of physical education by all people and nations.
('82414) )
(A) has been practiced (B) practiced
.- (G) 'which practiced (D) having been practiced
38. The ‘planet Pluto only this century.
(A) was discovered (B) discovered
(C) has discovered (D) it was discovered
39. of the closest relatives to mankind is the chimpanzee.
(A) Although ‘one (B) As one

(C) One . ) (D) Which one
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is indispensable to plant and animal 1 <. ("8045 5)

(A) Nitrogen (B) it is nitrogen
(C) That nitrogen (D) Although nitrogen

is the largest state in the U.S.

(A) It is Alaska (B) Alaska
(€) Although Alaska (D) Alaska which

pottery is one of the most important sources of information for the -
archaeolgist.

(A) old (B) Where old
(C) When old (D) Since old

most spectacular volcanic eruption in North America occured in
1980,

(A) There was the (B) It was the
(C) That the (D) The
considerable number of particles carry electric charges. '82418)
(A) There are a {B) While a
(C) They are a (D) A
®

artifacts are one of the mest important clues to the cultural
history of man.

(A) Wher2 ancient (B} Since ancient
(C) Ancinnt (D) When ancient

~.‘onies have a complex social structure which amazes investigators.

(A) There o ant (B) They are ant
(C) That ami {T") Ant



B—% RAHN

47.

48.

49.

theories have been advanced to account for the existence of the
moon, {'80%8 AB)

(A) They have many (B) There have been many
(C) Many (D) That many
Among the astronomers of ancient Greece, two theories ‘concerning

the place of the earth in the universe.

(A) developing (B) in development
(C) developed (D) which they developed

of the few marsupials in the world is the Kangaroo.

(A) One (B) Although one
(C) As one (D) Which one
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1. (B) 2. (D) 3. (D) 4. (C) 5. (A)

6. ;A) 7. (D) 8. (D) 9.°{A) 10. (D)
11. (D) 12. (C) 13. (D) 14. (B) 15. (B)
16. (C) 17. (B) 18. (C) 19. (D) 20. (A)
21. (B) 22. (A) 23. (A) i4. (a) 25. (A)
26..(C) 27. (O) 28. (D) 29. (B) 30. (B)
31. (A) 32, (A) 33. (C) 34, (C) 35. (B)
36. (B) 37. (A) 38. (A) 39. (C) 40. (A)
41. (B) 42. (A) 43. (D) 44. (D) 45. (C)

46. (D) 47. (C) 48, (C) 49. (A)
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AT TRRSBTE - %N » BREAEEA DR LEWTETRL o
SFETATH  REBHEARNDIMABESHERERE » FIANEN

HFBUMCATALEERDE o
ABEOR
L EEOEE—EEAR—ETRYYRFER -
She sings.
S v

We listen.
S v

2 SR AR B SN BCERRENFA ( linking verb ) » HEE
B ALFRMEAMEFME o LHEBFKENE | be, seem,
become, grow, get » LR BB look, feel, smell %o

She is =& nice girl.

s v c
He got angry.
S v C

3, ARORMBABRYRE ¢ EER—EAANREA .

The Chinese eat rice.
S v o

They like swimming.
s v 0

a SEM 0By RS B IS BT ( dative verb) » GiH
WL RERH o :
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